[ Efficiency vs vertpos |
0.8

T ——

0 AL LT S

0.5

efficiency vs vert r

0.4
R R TR
73 SRS SRR e 0 S

1 NSRS S SR S

o 1.0 N
T 4+
o 8
1 ; + - ot
gy qp
- : <+
0.95

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__ Global__mkFitbasel_RECO
Efficiend —— pom_v0001_R000000001__Global__mkFitbase2_ RECO

0.8

T s e e

D R e

efticiency vs vert z

b
e e T I
0.3 : l : :

T
0.2F -4t -------- ++H++
01-‘[++

Ratio

lll{m%#ll” 4
(I :

=30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
0.8

of b
o it

I e o o

efticiency vs Sim. PV z
——
+

e

0 e e e
R

s s O

Ratio

2015 -0 5 0 5 10 15 20
Sim. PV z (cm)

0.952



	Contents
	Page 1


